2.1 %

¥ y=a", f'(X)=¢€" (21)
B y=log, x (2.3) (A%x%logx)
—fE8%% y=sdnx, cosx, tanx

Wi =Ry =sn7x, cosTx (2.23), tan"'x

=X X —X

X 5 B % cosh x = S *26 Cgnhx=%"°

2 2
) X 4 ax ef—g ¥
cosh? x—sinh?x=| 2| -
2 2

i{(e +2+e‘2x) (e —2+e‘2x)}—l

(cosh x)' =sinhx, (sinh x)' =coshx (2.27)

2 XM (EBRR) EHEHABEEE—FE
B f(x,y)=x*+y =r? CFr o)
=+r?=x’, X +y =1

FHCTHHOIIE

BT DLy

“r<X<r

22 BEFEH L

YL E AT TR Y-Sl
f(2) ok

ZViE ko z=X+ )y :
W B wix, y) =u(Xx,y) + jV(X,y) : 182 B 5

R 6f his DT 2 B EK

(z 7
-

Bl 2.2: f(2) = Z°, 1THEFE Vi EcLDXH7a g
< TelZL z=x+ jyD y=x&7 %,
z=(1+j)x =« f(2)=2jxX (¥ 212

filii BEEE f (xX) DT AT — B LI

f(=5 06 ey

n=0 n!

CRERETRIR

BITFE(EREF) @ 2-1

(=1 (%) + (X°)(x %) + (X")(x X)? +

(n)
LI T

w© f(”)(o) i
X =00 f(x)=> . X" (wrmr—1)

n=0

1

s 1 1 1
FIZIE, € =1+ x+=x +=X +—=x" + + =X+
2 6 24

n!

23EHEHN (ElXesd %)
KB ORI R BN TR UL CTrESR

1
+—7"+...

(2.31)
n!

1 1
f(2)=€" =1+ Z+EZZ +=Z 4.

FEH A O fife R
e x g~

1 1
=1 Z72 4., 1 Z724...
£+zl+221+ j( +zz+222+ j

1 1 )
=rﬂa+e)+;a+éf+~;ﬁa+é)+

ezl + Z

RO B HE

f(2)=€" =¥ =¢&'¢” =¢*(cosy + jsiny)
cosy,siny i 277 O JE W EE %k

FoC, e bJEMIBLD,

#] 2.3: € =1 Dfif (E[RE@Y DfFEHHD)
B e =1+ |, 2 WY DRRLL

2.4 =A%
Taylor FEBH : 24D =/ B%0

1 1 1 1
CoSX=1-"X +— X' —— X 4.+ = X" +...
2 24 720 n!

BRI TERE (mITERE

f(2) =cosz
:]_—EZ2 +iz4—...+(—l)mizzm+... (233)
2 24

(2m)!

1

3 1 5 (_ )m— am

o (2.34)
6 120 (2m+1)!



BRHBEHERTR (A7 — DA R EM)
FHOAAT—DAA e =cosf+ jsinb(1.12)
BHEEDOAAT—DAK e” =cosz+ jsinz
FioERAND, €7 =cosz-jsinz, Lo T
2 4 iz

e +e

COSz =

(2.35)

ei(X+Jy) + e‘J(X+iY)

=cos(x+ jy) = 5

:%{e‘y(cosx+ jsinx)+e’(cosx~ jsin x)}
:%{(ey +e‘y)cosx— j(ey —e‘y)sinx}

=cosxcoshy— jsinxsinhy

iz _aqiz

sinz=

=ginxcoshy+ jcosxsinhy (2.36)

IETEE A N> (P53)
ej (z+2) + e‘j(21+22)
2

cos(z, +2,) = o 77

C0Sz C0SZ, —Sinzsinz,

ejZ1 +e‘jz1 esz +e‘jzz ejzl _e_jz1 ejzz _e_jzz

2 2 2] 2]
ej(z1+zz) + ej(z1_zz) +ej(zz_z1) + e‘j(11+zz)
4
ej(zl+22) _ej(z1_zz) _ej(zz_z1) + e‘j(21+zz)
4
ej(z1+zz) + e‘j(zf"zz)
2

£,

CoS(z *z,) =C0SZz €COSZ, ¥SiNzsSinz,
sin(z +z,) =sinz cosz, £ Cosz sinz,

#i 2.4 (P54)

T el —gl egl-g
COS(—H'j:— — = j
2 2] 2

fi#< (P54) (1) sin(g+ j)

(2) cosz=j , log() DONIFEIZTHIE

=AY ZARKOTEHELTERT
f(z)=sin“z, cos'z, tan™z

fi#<: cost z=w— z = cosw

2.5 WeEh#REE %
% coshz=S e , sinhz=" —2e’ (2.37)
e =coshz+sinhz, e*=coshz-sinhz
cosh? z-sinh® z=1
MR E = AREBDREE
jz —jz
cosz=cosh(jz) (cosz= = cosh(jz) )
iz _ i
snz=—-jsin(jz (sinz=< = Lann(in)
J
7 —7 —jI:]Z+ej|:]Z
coshz=cos(jz) (£1€ =€
S(j2) > 2
zZ _ .z j0z _ 4i0z
sinhz=-jsin(jz) (£ =5 =& —% )
Jsin(jz) 5 J 2]

cosh(z, + z,) =coshz coshz, +sinhz sinhz,
sinh(z * z,) =sinh z cosh z, + cosh z sinh z,
cosz=cosxcoshy—- jsinxsinhy

sinz=sinxcoshy + jcosxsinhz

5125 (P58) cosh£1+ JI_ZTJ

fi#< (P59) sinh(1+ jgj coshz=0

2.6 B

FRBEE DO WL L TESR

f(z)=w=e*JY, z=logw,

B ANNEEZ T, w=logz< z=¢"

72771, g(2) =logz=log(x + jy) CEHIE LK
logz=log(re®) =logr + j(6+ 2n71) (n¥&%) (2.38)

IR o R AR F R 9% LR A L L T IS Y,

1 SO 2126 L Clogz X DE A S :
w=logz (T AMPEEL, (FaEPBIEE RE->70)
n=0DOfE%EFEEN, KT TER,
logz=Logz+ j2nr

z=10D&=logl

723 1 OOEEITH LT 1 2OfE : — B4k

{51 2.6 (P61) logl, fiE< (P61)



2.7 RNEMEH

— &

f(2) =2 =(e"7)° =" (c #iE%, z20)(2.39)
S, £ =€ 2 LY

(i) c=n=12,-- (EO%EE)

2" = (re!@2mm)n = (el [@l2M7 = el —(if BE¥;
(i) c=n=-1-2,--- (RO

Zn - (rej(5+2m77))n - rnejm9 EejZmnn - r.nejnH *fﬂﬁ@@%{

(i) cz%(n:LZ,---) (=ETHL)

7 =z= (rej(9+2mn))% _ piel(Evenn)

(m=0,1,2,---,n-1) ZAfif%k

J

i[ Zeonm : 4 Zionr
#1127 (P63): j! =(e[E ]) =e[2 J (n#%50)

(1=
#<(PB3): j' =| —
fi#< (PB3) : ] [ﬁj

F&H

- BHEBEET (u,vEEREEETD)
f(2) =wW(X, y) =u(x, y) + jv(X,y)

- (xy) FEE (u,v) FEEITRRD

- EREBOBRBERE (F8H, = AREE)
FAT— DA (EFEENR)

- JEAEIE (jor), ZmBE%K

BITFE(EREF) @ 2-3



